YRR 2 4 FERRGRAER BIERR

TR bmREE OB AR (1 RFREED A EHHE)
(BA{3L : ppm)

A3l E 54 24 F T Rk 25 & X = B
r 4 5 6 7 8 9 10 1 12 1 2 3 |1ESRSME| BEMiE
X#m| 0002| 0001| 0001| 0001| 0000| 0001| 0001| 0001| 0001| 0002| 0001| 0002| 0.091 0.006
213 | 0005 0005| 0004| 0003| 0003| 0003| o0004| - - - 0004 | 0005| 0025 0.009
#MmE| 0006| 0006| 0005| 0004| 0004| 0004| 0005| 0004| 0004| 0004| 0004| 0005| 0030 0.012
HOB| 0005| 0004| 0003| 0002 0003 0003| 0004 0004| 0004| 0005 0004| 0006| 0026 0.010
15| 0005| 0006| 0005| 0004| 0004| 0004| 0005| 0004| 0004| 0005| 0004| 0005| 0022 0.010
ZmEB| 0005| 0006| 0004| 0004| 0004| 0004 0004| 0004| 0004| 0005| 0004| 0005| 0022 0.011

GE) XEMERFEAERETRY
GE) HNB®11A 128 1AICDOVTIE, BBOHEIZIY RBIEESTLD,

“BREHRE (S O: : FFHME)

(EREERE)

Rl wla = IBSRAMEAS.Ipom | B FHMEOO4pom | gy | B FI9fE0O4pmE | BB EE O KB M

A psle | FTOEEBALEEEE  |EBALEML st | BAFEM2EUE | FE&HEFHEN

TF Z0EE ZOEE EHLICEDHE 0.04ppm % #8 % 1= B ¥

BE

B& =] =3 ppm =] % =] % ppm H:x, &0 =]
XiHsE| 362 8,693 | 0.001 0 0 0 0 0.003 O 0
SE| 259 6,214 | 0.004 0 0 0 0 0.006 O 0
AR | 363 8,705 | 0.005 0 0 0 0 0.008 O 0
FOK| 363 8,702 | 0.004 0 0 0 0 0.007 O 0
ERB| 363 8,708 | 0.004 0 0 0 0 0.008 O 0
ZHERB| 363 8,706 | 0.004 0 0 0 0 0.008 O 0

GE) XHXRFEAERETRY




—BMLER, “RMEERBEHEHRR (1 RFHREDH FEHE)

(B : ppm)
NG &8 O 24 £ F R 25% X & (B
A 4 5 6 7 8 9 10 11 12 1 2 3 |1EsRME| BEE

X{EAE | NO | 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.011 0.003

NO:| 0.006 | 0.006 | 0.005 | 0.003 0.003 0.003 0.006 0.005 | 0.007 | 0.008 | 0.008 ([ 0.007 | 0.034 0.018

&)IE | NO | 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.017 0.004

NO:| 0.004 | 0.004 | 0.003 | 0.002 0.002 0.003 0.005 0.004 | 0.005 | 0.005 | 0.006 [ 0.005 | 0.031 0.013

B&MEB | NO | 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 | 0.001 0.022 0.004

NO:| 0.004 | 0.003 | 0.003 | 0.002 0.002 0.003 0.005 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.028 0.013

OB | NO | 0.000 | 0.001 0.001 0.000 0.001 0.001 0.000 | 0.001 0.001 0.001 0.001 0.001 0.027 0.003

NO:| 0.004 | 0.003 | 0.002 | 0.001 0.002 0.002 0.004 0.004 | 0.004 | 0.004 | 0.005 | 0.004 | 0.029 0.013

1ER/ | NO | 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 | 0.001 0.001 0.001 0.015 0.003

NO:| 0.004 | 0.003 | 0.003 | 0.002 0.002 0.003 0.004 0.004 | 0.004 | 0.004 | 0.005 | 0.004 | 0.036 0.012

ZHEF | NO | 0.001 0.000 | 0.000 | 0.001 0.000 0.000 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.009 0.002

NO:| 0.003 | 0.002 | 0.002 | 0.002 0.001 0.002 0.003 0.003 | 0.003 | 0.003 | 0.004 ([ 0.003 | 0.030 0.012

GE) XHFRZFEMEHDETRT .



—RILER, “RICERKOCERRILY (FERHIE)
(A EAN SIS Rk )

| A | F |1 RS 1 1 B 1 D =] B D | g |ogE|] & H & 1 B =3
B | B F |, o A I I I PP I = s A | F| X
7 m| 9| ” CHR-RIPEE SRR i |y |8 Y m| 2| e
Bl | E|F|D|E| | ®E|®|"|E iy | B e | n e - N R I
A E|qp | m| | & |01 ) 004 | & | p |z A | o
S -
A 0.2 pom | & 006 % |ppm ey
= n|E| = ® | pom| T |8 z | opm Wl e | BB % o | & | NO2
" B 9| g | M 3 O A ) R A N I I N ] By g | M
® z >l |\ Sl e 021 O | g |, |00 9% |gt| g 2| 98 protno
= | % Bz | #leeplw |z | ® || ®| % g8 B | %
> s | PR | | fE | B | s (M| m|E||la|Tlalt]|lal T e | B |wg| x| M |[@m|@E|B
%, H |Esf | ppm | ppm | ppm| B |EERE| ppm | ppm |BFfE| % |[BERE| % | B % | H % |ppm| H H BfEl | ppm | ppm | ppm | %
X5 | 361 [0.001]|0002| 8683|0034 0 | © 0 0 | o |8684]|0041| 855 |8684|0011| 361 [0006] 0 | 0 | o 0 |oo012| 361 |0.006] 0.014
B 363 0001|0002 8669|0031 0 | © 0 0 | o |8669]| 001|829 |8669|0022| 363 [0004] 0 | 0 | o 0 |0.009| 363 |0.005| 0.01
gEm/a| 355 |0.001]|0002| 8491 [0036| 0 | © 0 0 | o |8491]| 001|829 |8491|0015| 355 [0004| 0 | 0 | o 0 |0.008| 355 |0.004| 001
FO/a| 361 [0.001]0002| 8683 (0034 0 | © 0 0 | o |8684]|0041| 855 |8684|0011| 361 [0006] 0 | 0 | o 0 |oo012| 361 |0.006] 0.014
=25 | 363 [0.001]|0002| 8669|0031 0 | © 0 0 | o |8669]|001|829]|8669|0022| 363 [0004] 0 | 0 | o 0 |0.009| 363 |0.005| 001
£ /5| 355 0001|0002 8491 [0036| 0 | © 0 0 | o |8491] 001|829 |8491|0015| 355 [0004| 0 | 0 | o 0 |0.008| 355 |0.004| 001

GE)  XHFXRFEMEDETRT .



FEAFRYERERNERAR (1 RFEDA FHHE)

(B :mg/m)

A O 24 £ F ORE 25 F X & (B
%‘E 4 5 6 7 8 9 10 11 12 1 2 3 |1esRAME| B EMIE
M5B | 0022| 0023| 0018| 0028| 0020| 0020| 0016 | 0015 0009 | 0014 | 0015| 0026 | 0.161 0.084

HIE| 0021 | 0023 0016 | 0025| 0017 | 0018 | 0015 0.016 | 0026 | 0.118 0.070
BEMEB| 0020| 0021 | 0015| 0024| 0016| 0016| 0013 | 0013 | 0008 | 0012 | 0014 | 0023 | 0.137 0.065
B OB | 0020| 0022| 0016| 0024| 0016| 0018| 0014| 0013 | 0008 | 0011 | 0013 | 0022 | 0.135 0.072
@B | 0021 | 0023| 0017| 0027 o0018| 0019| 0015| 0013| 0009 | 0013| 0014| 0025| 0.164 0.082
#ZHME| 0021 | 0020| 0016 | 0026 | o0018| 0017 | 0014| 0014| 0008| 0012| 0016| 0026| 0.109 0.072
GE) XHFERFZEAERZETT
FERFRYE (S PM : F£MfHE)

(N—FRIRIRE)

RAlle  yla = 15 RIfEA%0.20mg/m | B FHfB0.10me/m | 5 oy e ) B ¥ #{E0.10me/ m%E BREEDORHAY

Amnmle | FEHEEBALBMME  |EBAAHRE mpestis | BALEM2ELE | & HTHIES

ZTDEE ZDEE EBHELEZCLOFE 0.10mg/m%B2=-A#
BIE B B | me/mi | PERE % B % mg/m H:x, &0 B
X{HLAE| 360 | 8644 | 0019 1 0 0 0 0.052 @) 0
SIE| 259 | 6210 | 0020 0 0 0 0 0.053 @) 0
BEMEE| 362 | 8690 | 0016 0 0 0 0 0.046 @) 0
OB | 363 | 8698 | 0016 0 0 0 0 0.049 @) 0
IEEE| 359 | 8616 | 0018 0 0 0 0 0.053 @) 0
ZHMHEE| 363 | 8701 | 0017 0 0 0 0 0.047 @) 0

GE) XHMXRFEAERETRY



